2015%F 25[EIRBYYH—IzRXT41/\)L

AFE REREIE
@ I[E LR TE B
&% ERK
&% ERRK B ==
) 0 F 34 31|
3 0 3t 8 0 HEE XM
@4t @m
A1z B14i C1fi D14
BREA M == !
(0m
34 <5 1|
* FE-ABFIWMATELEVDIZ, ROTLESLY,
FooA TSR Xt B F — LA By | 4FE
i | A6 BEAK|3 — 0| ¥ Bifx @it
@ | #RrpE| 13:20
B |cifz =2 |8 — 0| X DIfI Om
B | c3fz R |2 — 4| fEX D3I @m
it A2 ZR |7 — 0 |EfEAX B2M (3[4
@ |Zxata] 1440
M | c2fi KA 0 — 4| X% D2 0m
R d | Dtk BEIK| 2 — o = Ok @4t
15:20
3R B |@dta %f1 |7 — o XM OE& ®m




2015%F 25EIRBYYH—I AT\

AT & KB AE
<FE)-T>
AGLV—F | Batg | 2R | BEA | BA | BA | x5 | BxA| B
515 * | ] o 0 8 | —8| 3
R A N S ! 3 o | +3 | 2
EA | O | o5 | * 4 5 0O | +5 | 1
BYL—F | 2@ (@@t | #0 | BA | B& | A | Bxa| E&
30 * | % 2] o 1 12 | —11| 3
wEt | 0, | x| S | 4 4 1 | +3 | 2
e S e 4 8 o | +8 | 1
cin—7 | wr | == | xeo0 | ma | B8 | x5 | Bxs| BEx
R ' A . 0 0 12 | —12| 3
=% AN N N I 12 o |+12]| 1
xeo | 0 | 2| * 3 4 4 | o | 2
DYL—F | Kkt | kM | x| BA | B8R | x5 | Bxs| E&
Kk * | 0] 2| 8 2 1 | +1 | 2
KPS Sl x| 2] e 4 2 | +2 | 1
GES o | L | > 0 2 5 | -3 | 8
<#H&BE>
HEAIYSUR (dba—hk)
T—7 | %yt i % F L FE | 4B
) A 9:00 E9i% 0O — 3 2R EBFEAK | KM
@ B 9:40 EfALE O — o0 1! E3E Eniz
©) A 10:20 Eui5 0O — 5 ERA 2R | EfHE
@ B 11:00 eS| 1 — 4 BEfHELE s | ERAK
® A 11:40 IR 0O —o0 ERA 1 E3Ed
® B 12:20 E3Ed O — 8 R0 EfRLE | ZR
BUEAIS SR (a—h)
P ST BT — L FE | 4B
Q) C 9:00 hE 0O — 8 == Xx&a0 | K%
@ D 9:40 K o — 1 AP A HE
©) C 10:20 hE O — 4 X&0O == N
@ D 11:00 N 3 — 2 LN X% | K&O
® C 11:40 =% 4 — 0 x&an hE A
® D 12:20 K 2 — 0 LN N ==




